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1. #E+T
(1) 4EH T
et el m3 120. 000
Ve - HEH| m3 520. 000
#Hl Ca) m3 270. 000
PEH (D) A=7"vH v b m3 280. 000
PEH (D) aneIE el m3 650. 000
TS EMLER () L BR B+ m3 270. 000
T MR (L) R BR B+ m3 220. 000
(2)+T
Bt (=7) 4.0m=B m3 1, 900. 000
Bt (G5 ) 4. 0m=B m3 2, 700. 000

4.0m=B 50kg/m3 (ti/

REt (BR) C=TOkN/m2 b B m3 210. 000
Bt (R) C=110kN/n2 ok (iR | ™ 60.000
Bt (8) C=110kN/m2 ??2%55) 60ke/m3 (L1 | g 150. 000
AL gg%ﬁiﬁEWE(%@ n3 4, 100. 000
(3) FEHEEE T
P tkE R L 7=} m 20. 000
Y tkE R L R ot 280. 000
B K E T T 7=} ot 280. 000
B oK E T T T ot 130. 000
R smEfE BT i 1, 380. 000
2. HEIEYEEE T
(1) HEEmEUEL T
ary U — MEEWEE L L HHEAT m3 6. 900
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R7&EHE 2o 31 &Fm BATE (HOFHRSE) THEERER
TAE - FER - AR Biks HAL o i &
ary U — MEEWEEE L L A5 m3 69. 000
FREIEE L £ % 35¢cm nf 46. 000
AL ary J—hk (M) m3 6. 900
AL a7 V—h (8kiH) m3 69. 000
T ERALEL (1) &5&%%+E‘Q (B~ 200 m3 20. 000
3. BUKRE T

(DEELT el
Hl Ca) m3 140. 000
PEH (D) m3 90. 000
TS EMPLER () L BR B+ m3 140. 000

(2)R%+ - HRE
Bt MEL (=27) B<1.0m m3 100. 000
Bt MEL (=27) 1.Om=B=2.5m m3 70. 000
Bt MEL (=27) 2.5m =B=4.0m m3 10. 000
Bt MEL (=27) B<4. Om m3 140. 000
Bt HREL (FrHn) B<1.0m m3 60. 000
Bt HREL (FrHn) 1.Om=B=2. 5m m3 10. 000
- HREL (&R B<1.0m m3 4. 000
AL gﬁg\%)ﬁﬁi+@ﬂ%§ S 330. 000

(3) WA
BLarzU—k 18-8-25 (Fi4) m3 1. 000
TR P BRAR - MG IEY ot 0. 500
av7J—+L 24-12-25 (F&4F) m3 5. 500
TR P AR - MG IEY ot 14. 000
1B 7K B CF200 m 6. 100
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R7&EHH 7o FH1eEth BETE HOFREERE)  THEREREER
LA - FER - AR Hi BT i =

H Huhg i;z%”774§~ nt 2,000
B T oN— D16 %N 16. 000
2N SD345 D13 ton 0. 345
(4) 77— FRREH
BLarz)—rh 18-8-25 (F&i4A) m3 3. 400
U e BHLarvzy—t ot 2.500
ar7Y—hT 24-12-25 (F&47) m3 73. 000
U e — ot 87. 000
25T Pt 55 ot 73. 600
N ] SD345 D13 ton 1.070
2N SD345 D16 ton 1. 760
2N SD345 D19 ton 0. 870
2N SD345 D22 ton 1.150
(5) JERHE B
BLarz)—rh 18-8-25 (F&i4A) m3 2. 700
U e BHLarvzy—t ot 1. 300
ar7Y—hT 24-12-25 (F&47) m3 38. 000
U e — ot 25. 000
1E7KAR CF200 m 6. 100
H i;z%”774§~ nt 11. 000
B T N— D16 %N 84. 000
JES A gbﬁﬁﬁiyyyhk m 14. 900
2N SD345 D13 ton 0. 622
PR SD345 D16 ton 1. 760
PR SD345 D19 ton 0. 665
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N SD345 D22 ton 0.872
(6) 8RR >~ 7 2
BLarzU—k 18-8-25 (Fi4) m3 1. 300
TR P — ot 1. 500
av7J—+L 24-12-25 (F&%F) m3 38. 000
TR P HLarszy—h ot 63. 000
s AN Feth 2 35 #od 47.000
TSR T ZZm3 8.000
N SD345 D13 ton 0. 099
N SD345 D16 ton 1. 100
N SD345 D19 ton 0. 629
N SD345 D22 ton 0.614
(7) IE/KEBE
BLarzU—k 18-8-25 (Fi4) m3 0. 300
TR P — ot 0.700
arv7y—L+L 24-12-25 (F&)F) m3 8.100
TR P m 32. 000
17K R CF200 m 10. 600
H Ht i;z%”774§~ it 8. 000
BT ot 18. 000
(8) foHhi 16
BLarzU—k 18-8-25 (F@i4A) m3 6. 700
TR P HLarszy—h ot 4. 200
arv7y—L+L 24-12-25 (F&4F) m3 60. 000
TR P — ot 65. 000
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H Huhg i;z%”774§~ nt 11. 000
A A ot 2. 000
A L S g}ggﬁé.Orn VP ¢ 20 X e 16, 000
N SD345 D13 ton 1. 540
(9) FHil &8
BLarz)—rh 18-8-25 (F&i4A) m3 6. 600
U e BHLarzsy—t ot 4. 100
ar7Y—hT 24-12-25 (F&47) m3 34. 000
U e — n 23. 000
H Huh i;z%”774§~ nt 2,000
N GV N7 () ot 2. 000
A L S gllggié.Om VP ¢ 20 X e 29 000
2N SD345 D13 ton 1. 340
(1 0) HAEERREE: T
BLarz)—rh 18-8-25 (F&i4A) m3 1. 200
U e BHLarvzy—t ot 1. 000
a7 Y—hKL 18-8-40 (&=47) m3 1. 800
U e m 3.300
ays7Y—+T 24N-12-25 m3 5. 000
U e — ot 17. 000
2N SD345 D13 ton 0. 341
(1 1)KL
AR B 2V 1. 000
a7 Y—F 18-8-40 (/& %FB) m3 7.680
1 — R T, SR AT - e A . 30. 590
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1aTE AT EHE GFEOFRERE)
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TAE - FEPI - AR Hirk BT Y -
7.5emPh T, B BT 5, 72
FeHEA L BEITYy YTV nt 52. 800
RC-40 40~ 0mm
Mo 7 U — 1 18-8-40 (7 47B) m3 0. 360
e %ﬁ%ﬁéﬂ% ERAT - BEAHAR o 9 370
TR T 2y 1. 000
a7 Y—F 18-8-40 (7 47B) m3 3.170
e %ﬁ%ﬁéﬂ% ERAT - BEAHAS o 13.510
7.5embh T, B L9 5, 72
A L,BEI Ty XTI n 22. 080
RC-40 40~0mm
Bk 7y — | 18-8-40 (75 %7B) m3 0. 360
1 ;@ e U, BRAT - AT A G . 9. 370
4. T H— R L— Lk - 8
(1) H—= KL —nfET
H— F L — Uik B4 C-4E m 20. 000
(2)H—FL— L &ET W C-4E
H— RL—/LEBET Bdk ELC-4E m 20. 000
5. KETL
(1)K¥T
HEKAR v 7 3% = & 1. 000
HEKAR v 7 s T AT 1. 000
HEKAR v 7 sk & AT 1. 000
HEK R o 7 1R (=453 & 1. 000
BEAK AR > 7 il i IR & 1. 000
T 5 EE - Wk m3 5. 800
6. ZDfh
(1) HfirE s g
ks e 513 KRR
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TR - RER - A5 JE HAAL W& =
el v 2 PR TR D TR
B3 KRR 2 =] 25. 000

—FEEE L AfA

1. A7 o 2R

(1) Al 7 v 2 H R GEREE )
e ggéfbﬁmﬁﬁ(% =« 1000

2. BESHTAERE

(1) BHEHTABRE

TEE SRR E =X 1. 000
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1. SRS R A
(1) SR B S i SR
PR R R T (e HART) F20 1. 000
AHBRL v HF—Da A b /‘@3?19 AHIRRLE A7) | 1. 000
EH: THE
1. /NEKMBERAS T
(1) /NP BESRAT T
KPIBEFEAT TR ONE R (NK) bt — MRS X 1. 000
twbk s — FMET T 1M, &pm:r— F 1. 000
RN IEE S USIZNGE N C9 £V 1. 000
PEAT R R /INFEIK P A X 1. 000
AR (HEAT) NG P % G & 1. 000
KPIBEFEAT TR ONE R (NK) Bk — Mt L X 1. 000
oK — MM T 1M, &bm: 7 — R 1. 000
RN IEE S USIZNGE N C9 £V 1. 000
PEAT R R /INFEIK PR A = 1. 000
AR (HEAT) NG P % B & 1. 000
IRFIBERAT TR ONEEER . (A M) BRI — MER L K 1. 000
BAWR T — MET T 1M, &bm: 7 — R 1. 000
RN IEE S USIZNGE N C9 £V 1. 000
PEAT R R 2 /INEIK P A = 1. 000
AR (HEAT) NG P % G & 1. 000
IKFIBERAT TR OB R (N EAKM) RHRE R T K 1. 000
ARHBEE A T 1M, £bus— b R 1. 000
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A - FER - A Fr HAL E4 {1
RN IEE S USIZNGE N C9 £V .000
PEARARL 2 IR PR & . 000
HBIATRH 2R (HE 1) IR PR & . 000
IKFIBERAT TR ONE R (M EAKM) BB A T K . 000
B R T 1M, £bus— b M .000
P /INEAKPI AR BTk ] K . 000
PEARARL 2 IR PR & . 000
HBIATRH 2R (HE 1) NG PR & . 000
IKFIBERAT TR ONE R (M EAKM) T RE A T = . 000
AE R T 1M, £bur— b M .000
P e /INEKPI AR BTk ] K . 000
PEARARL 2 IR PR & . 000
HBIATRH 2R (HE 1) IR PR & . 000
PRA B L £20 .000
PR B oL 2 £20 .000
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